Village of Colfax Regular Board Meeting Agenda Monday, April 8th, 2024 7:00 p.m.

Village Hall, 613 Main Street, Colfax, WI 54730

- 1. Call the Regular Board Meeting to Order
- 2. Pledge of Allegiance
- 3. Roll Call
- 4. Public Comments
- 5. Communications from the Village President
- 6. Consent Agenda
 - a. Regular Board Meeting Minutes March 25th, 2024
 - b. Review Statement of Bills Pooled Checking-March 25th, 2024 to April 7th, 2024
 - c. Review Statement of Bills Solid Waste & Recycling Checking- March 25th, 2024 to April 7th, 2024
 - d. Training Request none
 - e. Facility Rental none
 - f. Licenses
 - Temporary Class "B"/"Class B" Retailer's License-April 19th, 2024-Sno-Drifters sponsoring The Concierge Home Décor & More Shop & Sip Event
 - ii. Operator's License-April 8th, 2024 to June 30th, 2024 Kendrah Beranek-The Outhouse

7. Consideration Items

- a. Balsam Street and/or Oak Street Bid Opening
- Colfax Rescue Squad Spaghetti Dinner- meet the local EMS crew and new EMS Director- Tentative Date May 5th, 2024
- c. Resolution 2024-02 Authorization of Signer Change on Non-Personal Accounts of Village of Colfax at Bremer Bank
- d. Resolution 2024-03 to 2024-12 Authorization of Signer Change on Non-Personal Account of the Village of Colfax at Dairy State Bank
- e. 2024-2025 Board of Review Trainee Volunteer
- 8. Committee/Department Reports (no action)
 - a. Colfax Police Department Report-March
 - b. Building Permits March
 - c. ACT Report-April 5th, 2024

9. Adjourn

Any person who has a qualifying disability as defined by the American with Disabilities Act that requires the meeting or materials at the meeting to be in an accessible location or format must contact: Lynn M. Niggemann - Clerk-Treasurer, 613 Main Street, Colfax, WI (715) 962-3311 by 2:00 p.m. the day prior to the meeting so that any necessary arrangements can be made to accommodate each request.

It is possible that members of and possibly a quorum of members of the governmental bodies of the municipality may be in attendance at the above-stated meeting to gather information; no action will be taken by any governmental body at the above-stated meeting other than the governmental body specifically referred to above in this notice.

Village Board Meeting - March 25th, 2024

On March 25th, 2024, the Village Board met at the Village Hall, 613 Main Street, Colfax, WI at 7:00 p.m. Members present: Trustees Burcham, Rud, Best, Stene and Prince. Excused: Trustees Jenson and Davis. Others present included Public Works Director Bates, Deputy Clerk-Treasurer Riemer, no media was present.

Public Comments - none

Communications by the Village President -none.

Consent Agenda

Regular Board Meeting Minutes -March 11th, 2024

Review Statement of Bills Pooled Checking-March 11th, 2024 to March 24th, 2024

Review Statement of Bills Solid Waste & Recycling Checking – March 11th, 2024 to March 24th, 2024

Training Request - none

Facility Rental and Licenses - none

Licenses - Mackenzi Loback - Operator's License-March 25th, 2024 to June 30th, 2024 - A Little Slice of Italy

A motion was made by Trustee Stene and seconded by Trustee Burcham to approve the Consent Agenda items 6 a. through 6 f. which included the March 11th, 2024 Regular Board Meeting Minutes, Statement of Bills for Pooled Checking and Solid Waste & Recycling for March 11th, 2024 to March 24th, 2024, no Training Requests, Facility Rentals or licenses. A voice vote was taken with all members voting in favor. Motion carried.

Consideration Items

Water Tower Clean and Coat, Inc. estimate - \$6,000 — Bates explained the water tower had been drained last week and while inspecting it seems it needs to be cleaned. Water Tower Clean and Coat was here to complete the tower drain down a couple weeks ago and Bates ask them to provide a new estimate to wash the tower which is the \$6,000. A year-ago the cost was \$5,800. Trustee Burcham questioned if there were other companies that did water tower cleaning and Bates responded that there are a lot of companies. President Prince wondered if the towner also needed to be painted and Bates responded that it did not. The Board would like two more estimates for the water tower cleaning. Bates stated he will get additional estimates at the WRWA conference this week. This item was tabled until more estimates are received. No action taken.

Closed Session-A motion was made by Trustee Stene and seconded by Trustee Burcham to convene into closed session pursuant to WI Statues 19.85 (1)(e) Deliberating or negotiating the purchasing of public properties, the investing of public funds, or conducting other specified public business, whenever competitive or bargaining reasons require a closed session, a. Balsam Street, at 7:03 p.m. Voting For: Trustees Best, Stene, Rud, Burcham and Prince. Voting Against: none. Motion carried.

Open Session-Motion to convene into open session to take any action resulting from the closed session. A motion was made by Trustee Stene and seconded by Trustee Best to convene into open session at 7:22 p.m. Voting For: Trustees Burcham, Rud, Stene, Best and Prince.

After discussion no action was taken.

Adjourn – A motion was made by Trustee Burcham and seconded by Trustee Rud to adjourn the meeting at 7:24 p.m. A voice vote was taken with all members voting in favor. Meeting Adjourned.

		Jeff Prince, Village President
Attest:		
	Sheila Riemer	
	Deputy Clerk-Treasurer	

Accounting Checks

1

POOLED CHECKING ACCOUNT

Posted From: 3/25/2024 From Account: Thru: 4/07/2024 Thru Account:

Check Nbr	Check Date	Payee	Amount
MWG	4/01/2024	MORGAN WHITE GROUP	1,053.69
XCEL	4/01/2024	XCEL ENERGY	4,732.68
79556	3/29/2024	24-7 TELCOM	44.90
79557	3/29/2024	AT&T MOBILITY	477.97
79558	3/29/2024	AYRES ASSOCIATES	15,778.98
79559	3/29/2024	BAUMAN ASSOCIATES	23,365.08
79560	3/29/2024	BOUND TREE MEDICAL, LLC	276.35
79561	3/29/2024	CAPITAL ONE	116.96
79562	3/29/2024	CATALIS TAX & CAMA	290.73
79563	3/29/2024	CENTURY LINK	130.76
79564	3/29/2024	DAKOTA SUPPLY GROUP	932.27
79565	3/29/2024	DUNN COUNTY TREASURER	1,438.20
79566	3/29/2024	E.O. JOHNSON	47.00
79567	3/29/2024	HAWKINS, INC.	1,482.26
79568	3/29/2024	HUEBSCH LAUNDRY CO	87.92
79569	3/29/2024	IFLS LIBRARY SYSTEM	264.00
79570	3/29/2024	MENARDS-EAU CLAIRE	150.95
79571	3/29/2024	MODERN MARKETING	302.25
79572	3/29/2024	SCHILLING SUPPLY	217.56
79573	3/29/2024	T-MOBILE	29.40
79574	3/29/2024	WATER TOWER CLEAN & COAT, INC	3,725.00
79575	3/29/2024	WELD RILEY SC	1,489.00
79576	4/02/2024	CAFE II COFFEE SHOP & BAKERY	42.00
79577	4/02/2024	A LITTLE SLICE OF ITALY	21.35
79578	4/03/2024	PITNEY BOWES BANK, INC RESERVE ACCOUNT	500.00
79579	4/03/2024	POSTMASTER OF COLFAX	68.00
AFLAC	3/28/2024	AFLAC	61.86
EFTPS	3/28/2024	EFTPS-FEDERAL-SS-MEDICARE	8,085.03
WIDOR	4/02/2024	WI DEPARTMENT OF REVENUE	450.00
WIDOR	3/28/2024	WI DEPARTMENT OF REVENUE	1,259.70
CHARTER	3/28/2024	CHARTER COMMUNICATIONS	159.98
WIDCOMP	3/28/2024	WISCONSIN DEFERRED COMPENSATION	210.00
COMPLIFE	4/01/2024	COMPANION LIFE INSURANCE	866.59

4/05/2024

1:10 PM

Reprint Check Register - Quick Report - ALL

Page:

ACCT

2

POOLED CHECKING ACCOUNT

Accounting Checks

Posted From:

3/25/2024

From Account:

Thru:

4/07/2024

Thru Account:

Check Nbr

Check Date

Payee

Amount

Grand Total

68,158.42

4/05/2024 1:10 PM

Reprint Check Register - Quick Report - ALL

Page:

ACCT

SOLID WASTE & RECYCLING RU

Accounting Checks

Posted From:

3/25/2024

From Account:

Thru:

4/07/2024

Thru Account:

Check Nbr	Check Date	Payee		Amount
1365	3/29/2024	AT&T MOBILITY		66.70
1366	3/29/2024	LIBERTY TIRE SERVICES LLC	M	582.93
			Grand Total	649.63

APPLICATION FOR TEMPORARY CLASS "B"/"CLASS B" RETAILER'S LICENSE

See Additional Information on reverse side. Contact the municipal clerk if you have questions. 20.00 (d) cash Application Date: 3-28-24 County of Colfice County of Dunn Town The named organization applies for: (check appropriate box(es).) A Temporary Class "B" license to sell fermented malt beverages at picnics or similar gatherings under s. 125.26(6), Wis, Stats. A Temporary "Class B" license to sell wine at picnics or similar gatherings under s. 125.51(10), Wis. Stat. at the premises described below during a special event beginning 4-19-24 and ending 4-19-24 and agrees to comply with all law, resolution, ordinances and regulations (state, federal or local) affecting the sale of fermented malt beverages and/or wine if the license is granted. 1. ORGANIZATION (check appropriate box) Bona fide Club Church Lodge/Society Veteran's Organization Fair Association

(a) Name Colfux Sno Drifters (b) Address (c) Date organized ____1978 (d) If corporation, give date of incorporation (e) Names and addresses of all officers: Mike Buchner President Vice President Nate Frickson Secretary Jodi Larson Treasurer Christie (f) Name and address of manager or person in charge of affair: Mike Bucher / Amanda Kikilas 509 Fairview / E8577 N Cty Rd E Elkmound WI 2. LOCATION OF PREMISES WHERE BEER AND/OR WINE WILL BE SOLD: (a) Street number 225 Bremer Ave Colfax WI 54730 (c) Do premises occupy all or part of building? (d) If part of building, describe fully all premises covered under this application, which floor or floors, or room or rooms, license is to the Concierge Home Decort More 3. NAME OF EVENT (a) List name of the event Shop 4 S; ρ
(b) Dates of event 4-19-24 **DECLARATION** The Officer(s) of the organization, individually and together, declare under penalties of law that the information provided in this application is true and correct to the best of their knowledge and belief. Officer ___ Officer (Signature/date) Date Reported to Council or Board 4-8-24 Date Filed with Clerk 3-28-2024 Date Granted by Council License No.

AT-315 (R, 4-09)

Village of Colfax

PO Box 417 - Colfax, Wisconsin 54730 - Phone 715-962-3311 Application for License to Serve Fermented Malt Beverages and Intoxicating Liquors New License Renewal License Fee: \$10.00 each application Receipt: A Cash Provisional License TO THE BOARD OF THE VILLAGE OF COLFAX, WISCONSIN: I, hereby apply for a license to serve, from date hereof to JUNE 30, 20 24, inclusive (unless sooner revoked), Fermented Malt Beverages and Intoxicating Liquors, subject to the limitations imposed by Section 125.32(2) and 125.68(2) of the Wisconsin Statutes and all acts amendatory thereof and supplementary thereto, and hereby agree to comply with all laws resolutions, ordinances and regulations, Federal, State or Local, affecting the sale of such beverages and liquors if a license be granted to me. Answer the following questions fully and completely: (PLEASE PRINT) NAME Wendrah Lynn Marie Branek
FIRST NAME MIDDLE NAME LAST NAME Telephone Number (715) 210-4219 Email Address Kendrah 14nn 20065 @ gmail-Com

Current Address 602 University AVC Colfax 54730 5

(Street) (City) (Zip Code) (yrs. at address) Previous Address 636 Harlem St Altoona (Street) (City) (Zip Code) POLICE DEPT APPLICABLE OFFENSE CRITERIA A records check will be conducted for violations of any law or ordinances during the past 10 years that substantially relate to the license applied for. Those convictions are considered by the Village of Colfax in determining whether a license will be granted. You will be notified by the Village of Colfax Police Department if your application is recommended for denial to the Village Board. Approve Deny (Chief of Police or designated staff Signature) Recommendation STATE OF WISCONSIN/ DUNN COUNTY The above named applicant, being first duly sworn on oath says that he/she is the person who made and signed the foregoing application for an operator's license: that all the statements made by applicant are true. Subscribed and sworn before me this 31 day of March, 20 24

Shule French

(Signature of Notary Public) (Commission Expires) Date Received: 3/21/24 Date to the Board: 4/8/24 Approved or Denied



Kendrah Beranek

for successful completion of the online course



Wisconsin Alcohol Seller/Server Course

PERSONS COMPLETING THIS COURSE HAVE AGREED TO EXECUTE THE FOLLOWING POLICIES TO THE BEST OF THEIR ABILITIES.

- * CARD ANY PERSON 35 YEARS OF AGE OR YOUNGER
- * OBSERVE AND REPORT ANY CUSTOMER SHOWING SIGNS OF POSSIBLE IMPAIRED BEHAVIOR TO MANAGEMENT
- * RESPOND IMMEDIATELY TO ANY POSSIBLE PROBLEM SITUATION
- * DETERMINE THE PEOPLE ENTERING THE PREMISES TO CONSUME ALCOHOL ARE OF LEGAL ALCOHOL DRINKING AGE AND RECARD THEM IF THERE IS ANY QUESTION ABOUT THEIR AGE
- * ENSURE A PERSON MATCHES THEIR VALID LEGAL IDENTIFICATION

This is a Wisconsin Department of Revenue approved Responsible Beverage Server Training Course in compliance with Sec. 125.17 (6), 134.66 (2m), and 125.04 (5) (a) 5. Wis. Stats.

Verify online at servingalcohol.com

Verification Code

t9LEaZJf9t

Date Issued

Mar 18th, 2024

VALID FOR 2 YEARS

This is not a Wisconsin operators/bartenders license.

This certificate will be requested to obtain a Wisconsin operators/bartenders license from the Wisconsin city clerk's office in the municipality where you are working. Find your city clerk's office here: https://elections.wi.gov/clerks/directory

Wisconsin Alcohol Seller/Server Course

Name: Kendrah Beranek

Certification Date: Mar 18th, 2024

Certificate Code: t9LEaZJf9t

Verify Online: servingalcohol.com 125.17(6), 134.66 (2m), 125.04(5)(a)5 Wis. Stats.

SERVING ALCOHOL INC

VALID FOR 2 YEARS

Learn more about this wallet card at http://servingalcohol.com/wallet-card



MEMORANDUM

То:	Colfax Village Board			
From:	Mitchell Nichols, PE			
Date:	April, 5 th 2024	Project No.:	23-1952.00	
Re:	2023 Street and Utility Improvements			

Bids for the 2024 Street and Utility Improvements project were opened at 11:00am on April 5th, 2024 at the Colfax Village Hall.

Five bids were received for the project. All bids were submitted electronically through the QuestCDN bid site.

The engineer's estimate was \$666,300 plus a contingency of \$66,500 for a total construction estimate of \$732,800.

All bidders provided the required 10% bid bond, and there were no errors in the bids.

The following table summarizes the bids received:

Bidder		Rank
Skid Steer Guy LLC	\$709,592.00	1
Haas Sons, Inc.	\$730,087.95	2
Albrightson Excavating Inc.	\$759,988.93	3
A-1 Excavating	\$800,723.00	4
McCabe Construction	\$830,156.97	5

The lowest bidder is Skid Steer Guy LLC out of Mondovi, WI. The Village of Colfax worked with this contractor on the 2021 and 2022, and 2023 Street & Utility Improvement Projects. Village staff indicated they would have no concerns awarding and working with this contractor again.

I recommend the Village choose the lowest responsible bidder of Skid Steer Guy for the 2024 Street and Utility Improvements Contract.





נ										
PR(PROJECT: 2024 Street and Utility Improvements Colfax, WI		Skid Steer Guy N1417 State Road 85 Mondovi, WI 54755	ad 85 755	Haas Sons, Inc. 203 E. Birch St. Thorp, WI 54777		Albrightson Excavating 345 Southside Dr., PO Box 181 Woodville, WI 54028	vating r., PO Box 181 028	A-1 Excavating LLC PO Box 90 Bloomer, WI 54724	O- 40
GIB	BID DEADLINE: April 5, 2024 11:00 a.m. Local Time		715,829,6215		715.669.5469		715.698.2768		715.568.4141	
	DESCRIPTION	UNITS QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	SCHEDULE A							6	0000	
_	A-1 Abandon Existing Water System	L.S. 1	\$1,200.00	\$1,200.00	\$750.00	\$750.00	\$550.00	\$550.00	\$3,300.00	\$3,300.00
2		Each 2	\$650.00	\$1,300.00	\$850.00	\$1,700.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00
l m	_	L.F. 29	\$58.00	\$1,682.00	\$50.75	\$1,471.75	\$75.20	\$2,180.80	\$74.00	\$2,146.00
) 4	A-4	L.F. 810	\$70.00	\$56,700.00	\$67.14	\$54,383.40	\$62.25	\$50,422.50	\$79.00	\$63,990.00
t rc	7 7	Each 2	\$1,900.00	\$3,800,00	\$2,293.00	\$4,586.00	\$2,375.00	\$4,750.00	\$2,100,00	\$4,200.00
2 (A A		\$2,700.00	\$18,900.00	\$3,042.00	\$21,294.00	\$3,050.00	\$21,350.00	\$2,900.00	\$20,300.00
1	7 4		\$5,800.00	\$11,600.00	\$6,065.00	\$12,130.00	\$5,935.00	\$11,870.00	\$5,875.00	\$11,750.00
- 0	+	L	\$500.00	\$2,000.00	\$1,006.00	\$4,024.00	\$1,250.00	\$5,000.00	\$1,170.00	\$4,680.00
0 0	0 0		\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00	\$5,990.00	\$5,990.00	\$6,330.00	\$6,330,00
מ ל	ָרְ כַּלְ		\$46.00	\$7,912.00	\$31.00	\$5,332.00	\$34.00	\$5,848.00	\$52.00	\$8,944.00
5 4			\$49.00	\$8,477.00	\$32.72	\$5,660.56	\$36.00	\$6,228.00	\$60.00	\$10,380.00
- 5			\$500.00	\$3,500.00	\$775.00	\$5,425.00	\$675.00	\$4,725.00	\$850.00	\$5,950.00
4 6		Each	\$1,500.00	\$1,500.00	\$1,625.00	\$1,625.00	\$1,350.00	\$1,350.00	\$1,820.00	\$1,820.00
1		\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	\$3,500,00	\$3,500.00	\$0.01	\$0.01	\$1,500.00	\$1,500.00	\$1.00	\$1.00
‡ ⁷	_	L.F. 972	\$61.00	\$59,292.00	\$49.75	\$48,357.00	\$68.05	\$66,144.60	\$72.00	\$69,984.00
2 6			\$250.00	\$1,000.00	\$890.00	\$3,560.00	\$450.00	\$1,800.00	\$1,050.00	\$4,200.00
5 5	-	20	\$340.00	\$17,986.00	\$434.00	\$22,958.60	\$495.00	\$26,185.50	\$480.00	\$25,392.00
ά	_		\$900.00	\$4,500.00	\$1,025.00	\$5,125.00	\$840,00	\$4,200.00	\$1,080.00	\$5,400,00
0.	-	Each 8	\$500.00	\$4,000.00	\$275.00	\$2,200.00	\$240.00	\$1,920.00	\$350.00	\$2,800.00
2 2	-	L.F. 224	\$47.00	\$10,528.00	\$32.75	\$7,336.00	\$43.75	\$9,800.00	\$53.00	\$11,872.00
2 5	1	Each 8	\$85.00	\$680.00	\$125.00	\$1,000.00	\$215.00	\$1,720.00	\$100.00	\$800.00
2 5		L.F. 972	\$2.00	\$1,944.00	\$1.50	\$1,458.00	\$2.00	\$1,944.00	\$2.00	\$1,944.00
2 6	-	L.F. 143	\$70.00	\$10,010.00	\$47.50	\$6,792.50	\$42.00	\$6,006.00	\$69.00	\$9,867.00
2 2	+-	L.F. 1278	\$4.00	\$5,112.00	\$10.75	\$13,738.50	\$10.90	\$13,930.20		\$15,336.00
25		Each 1	\$400.00	\$400.00	\$900.00	\$900.00	\$1,050.00	\$1,050.00	è	\$1,000.00
28	_	V.F. 4.4	\$380.00	\$1,672.00	\$700.00	\$3,080.00	\$555.00	\$2,442.00		\$3,300.00
27		V.F. 11.9	\$260.00	\$3,094.00	\$690.00	\$8,211.00		\$7,199.50		\$8,925.00
^		Each 1	\$900.00	\$900.00	÷	\$1,025.00		00.00d&		#1,000.00 #4,000.00
2	_	Each 4	\$900.00	Ä	93	\$3,100.00	\$910.00	\$3,640.00	A	00.00
l w		Each 4	\$50.00		\$75.00	\$300.00	\$60.00	\$240.00	\$100.00	#400.00 #400.00
۳.	_	L.S. 1	\$800.00	\$800.00	\$2,500.00	\$2,500.00		\$600.00		90.00
) (Each 2	\$250.00	\$500.00	\$550.00	\$1,100.00	\$	\$900.00	97	2800.00
, (S.Y. 3302	\$2.00	\$6,604.00	\$2.00	32		\$13,604.24		\$23,114.00
, ,	2 6	S.Y. 876	\$5.00	\$4,380.00	\$5.00	\$4,380.00	\$6.00	\$5,256.00		\$4,380.00
, (_		\$6.00	\$6,126.00		\$3,063.00		\$2,858.80		\$3,063,00
7,6			\$55.00	\$5,115.00	\$60.00	\$5,580.00	\$44.45	\$4,133.85	€9	\$9,300.00
1 "			\$2.00	\$628.00	\$3.00	\$942.00		\$942.00		\$942.00
1,	20 A 38 Roadway Eathwork	Ĺ	\$13.00	\$59,800.00	\$14.68	\$67,528.00	\$12.30	\$56,580.00	\$0.01	\$46.00
1	_									





BID I ABULATION											
PROJECT 2024 Colfa BID DEAD April	PROJECT: 2024 Street and Utility Improvements Colfax, WI BID DEADLINE: April 5, 2024			Skid Steer Guy N1417 State Road 85 Mondovi, WI 54755 715.829.6215		Haas Sons, Inc. 203 E. Birch St. Thorp, WI 54771 715.669.5469		Albrightson Excavating 345 Southside Dr., PO Box 181 Woodville, WI 54028 715,698.2768	vating r., PO Box 181 t028	A-1 Excavating LLC PO Box 90 Bloomer, WI 54724 715.568.4141	LC 24
	11:00 a.m. Local Time	O EIN	VIIINALIO	TOPOLO TINIT	TOTAL PRICE	LINIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	DESCRIPTION	-	COONTILL	H	#0 035 OD	\$2.25	\$8 131 50	\$1.60	\$5.782.40	\$2.00	\$7,228.00
33	A-39 Geotextile Stabilization Fabric	> >	3514	\$2.50	#36.150.00	\$36.00	\$43,380.00	\$36.65	\$44,163.25	\$49.00	\$59,045.00
40	A-40 Breaker Run	2 2	1203	00.00	\$30,150.00	\$27.50	\$30.442.50	\$29.50	\$32,656,50	\$49.00	\$54,243.00
4	A-41 Base Course	ه ز.	1107	\$9.00 \$9.00	\$28,163,00	\$9.76	\$30.421.92	\$8.93	\$27,834.81	00'6\$	\$28,053.00
45	A-42 1.5" Asphaltic Concrete Binder Paving	- > o u	3117	00.68	\$28,053.00	\$8.10	\$25,247.70	\$8.93	\$27,834.81	\$9.00	\$28,053.00
4 .	A-43 1.5" Aspnaliic Conclete Surface Faviring	- u	127B	\$15.00	\$19,170.00	\$14.75	\$18,850.50	\$22.63	\$28,921.14	\$24.00	\$30,672.00
4 ;	A-44 sur Concrete Curb allo Guite	i v	1590	\$6.00	\$9.540.00	\$6.00	\$9,540.00	\$6.94	\$11,034.60	\$7.00	\$11,130.00
t 4	A-45 Concrete Littleway Favility	L C	5425	\$4.00	\$21,700.00	\$5.00	\$27,125.00	\$4.61	\$25,009.25	\$5.00	\$27,125.00
0 1	A-46 4 COLICIETE SIDEWAIN	i c	120	\$45.00	\$5,400.00	\$48.00	\$5,760.00	\$48.95	\$5,874.00	\$52,00	\$6,240.00
4 6	A-47 Defectable variety icid	. v.	-	\$15.200.00	\$15,200.00	\$9,415.01	\$9,415.01	\$7,110.00	\$7,110.00	\$900.00	\$300.00
1	Subtotal for Schedule A	i			\$539,846.00		\$552,534.45		\$572,681.75		\$606,025.00
	SCHEDILEB										
49	B-1 Abandon Existing Sanitary Sewer	L.S.	-	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00	\$1,200.00	\$1,200.00
2 4	. C.B.	Each	-	\$500.00	\$500.00	\$750.00	\$750.00	\$600.00	\$600.00	\$1,000.00	\$1,000.00
3 2	7 0	L.	409	\$54.00	\$22,086.00	\$55.00	\$22,495.00	\$59.70	\$24,417.30		\$40,082.00
2	A A	Each	6	\$250.00	\$750.00	\$800.00	\$2,400.00	\$450.00	\$1,350.00		\$1,800.00
2 6	י עי	V.F.	24.6	\$330.00	\$8,118.00	\$480.00	\$11,808.00	\$540.00	\$13,284.00		\$12,300.00
8 4	9 6	Each	6	\$900.00	\$2,700.00	\$1,025.00	\$3,075.00	\$840.00	\$2,520.00	21	\$3,240.00
, r	2 2	LE	409	\$2.00	\$818.00	\$1.50	\$613.50	\$2.00	\$818.00		\$818.00
3 4	. a	L.S.	-	\$200.00	\$200.00	\$2,250.00	\$2,250.00	\$1,220.00	\$1,220.00		\$300.00
3 2	9 0	Each	-	\$200.00	\$200.00	\$550.00	\$550.00		\$450.00		\$300.00
o u	7 G	L.S.	-	\$800.00	\$800.00	\$250.00	\$250.00	\$6	\$600.00	è	\$100.00
2 0	+	S.Y.	1603	\$2.00	\$3,206.00	\$2.00	\$3,206.00		\$5,963.16		\$9,618,00
8 6	-	S.Y.	71	\$10.00	\$710.00		\$710.00		\$710.00		\$639.00
6	+	LF	10	\$10.00	\$100.00		\$250,00		\$100.00		\$150.00
62	_	T.D.	21	\$65.00	\$1,365.00	93	\$1,260.00		\$933.45	÷	\$2,100.00
63	+	L.F.	183	\$3.00	\$549.00		\$915.00		\$549.00		4049.00
9	1	C.Y.	2400	\$12.00	\$28,800.00	63	\$31,200.00		\$29,520.00		\$24.00
65		S.Y.	1948	\$3.00	\$5,844.00		\$4,383.00		\$3,116.80		43,090.00
99		C.Y	649	\$32.00	\$20,768.00		\$23,364.00		\$23,785.85	\$54.00	\$25,046.00
67		C.Y	481	\$30.00	\$14,430.00		\$13,227.50	37	\$14,189.50		645 220 00
989	1	S.Y.	1692	\$9.00	\$15,228.00	93	\$17,681.40		\$15,820.20		645 228 00
69		SΥ	1692	\$9.00	\$15,228.00		\$13,959.00		\$15,820.20		\$15,228.00 \$2,048.00
70		S.Y.	31	\$61.00	\$1,891.00		\$1,872.09		\$1,872.09		#4, U40, U0
71	1	LE	657	\$16.00	\$10,512.00		\$10,512.00		\$14,618.25		\$15,766,00
72		S.F.	849	\$7.00	\$5,943.00		\$5,094.00		\$6,469.38		40,732.00 90,000
73		L.S.	-	\$8,500.00	\$8,500.00	\$3,228.01	\$3,228.01	\$6,780.00	\$6,780.00	\$500.00	\$500.00
	t				00 010 0010		8177 553 50	_	110 1016	_	5.000.00



PROJECT: 2024 Street and Utility Improvements Colfax, WI		Skid Steer Guy N1417 State Road 85 Mondovi, WI 54755		Haas Sons, Inc. 203 E. Birch St. Thorp, WI 54771		Albrightson Excavating 345 Southside Dr., PO Box 181 Woodville, WI 54028	19 D Box 181	A-1 Excavating LLC PO Box 90 Bloomer, WI 54724	LC 24
BID DEADLINE: April 5, 2024 11:00 a.m. Local Time		715.829.6215		715.669.5469		715.698.2768		715.568.4141	
PTION	UNITS QUANTITY	UNIT PRICE	UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE	UNIT PRICE		UNIT PRICE	UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE	UNIT PRICE	TOTAL PRICE
Total Base Bid Amount (Line Items 1 thru 73)			\$709,592.00		\$730,087.95		\$759,988.93		\$800,723.00
Bid Security/Type - 10%		Bid Bo	Bid Bond - 10%	Bid Bon	Bid Bond - 10%	Bid Bon	Bid Bond - 10%	Bid Bo	Bid Bond - 10%
Apparent Low Bid			***						





ዋ	PROJECT: 2024 Colfa	ECT: 2024 Street and Utility Improvements Colfax, WI			McCabe Construction PO Box 1769	ction						
置	BID DEADLINE: April 5, 20 11:00 a.m	FADLINE: April 5, 2024 11:00 a.m. Local Time		,	715.552.1346	70.						
L		DESCRIPTION	UNITS	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
L		SCHEDULE A										
,	A-1		L.S.	-	\$1,700.00	\$1,700.00						
7			Each	2	\$630.00	\$1,260.00						
ო	A-3	3 6" Water Main PVC	LF	29	\$60.00	\$1,740.00						
4	A-4	4 8" Water Main PVC	LF	810	\$85.00	\$68,850.00						
ις	т	6" Valve and Box	Each	2	\$1,980.00	\$3,960.00						
ω		6 B" Valve and Box	Each	7	\$2,620.00	\$18,340.00						
7	т	7 Hydrant	Each	2	\$5,145.00	\$10,290.00						
00	+	A-8 Connect to Existing Water Main	Each	4	\$2,400.00	\$9,600.00						
တ		A-9 Connect to Existing Water Main 8" Live Tap	Each	-	\$6,135.00	\$6,135.00						
9	+-	A-10 1" Water Service	H	172	\$50.00	\$8,600.00						
÷		A-11 2" Water Service	L.F.	173	\$60.00	\$10,380.00						
12	_	A-12 1" Corp Stop. Curb Stop, and Box	Each	7	\$585.00	\$4,095.00						
65	_	A-13 2" Corp Stop, Curb Stop, and Box	Each	-	\$1,555.00	\$1,555.00						
4		A-14 Temporary Water Service	L.S.	-	\$1,500.00	\$1,500.00						
\	_	A-15 10" Sanitary Sewer PVC	LF	972	\$100.00	\$97,200.00						
16	+-	A-16 Connect to Existing Sanitary	Each	4	\$440.00	\$1,760.00						
17		A-17 Sanitary Manhole 4 Ft	V.F.	52.9	\$438.00	\$23,170.20						
~		A-18 Casting Type J-S	Each	5	\$975.00	\$4,875.00						
19		A-19 4" Wye	Each	80	\$240.00	\$1,920.00						
20		A-20 4" Sanitary Lateral PVC	L.F.	224	\$50.00	\$11,200.00						
21		A-21 Tracer Wire Access Box	Each	80	\$180.00	\$1,440.00						
22		A-22 Sanitary Sewer Televising	L.F.	972	\$1.00	\$972.00						
23		A-23 12" Storm Sewer	LE	143	\$60.00	\$8,580.00						
N		A-24 6" Underdrain Pipe	L.F.	1278	\$11.00	\$14,058.00						
25	_	A-25 Connect to Existing Storm	Each	1	\$840.00	\$840.00						
56		A-26 Storm Manhole 4 Ft	V.F.	4,4	\$605.00	\$2,662.00						
27		A-27 Inlet 2x3 Ft	V.F.	11.9	\$675.00	\$8,032.50						
28		A-28 Casting Type J	Each	1	\$975.00	\$975.00						
59		A-29 Casting Type H	Each	4	\$865.00	\$3,460.00						
ι		A-30 Inlet Protection	Each	4	\$55.00	\$220.00						
		A-31 Trackout Control	L.S.	-	\$1,300.00	\$1,300.00						
_ m		A-32 Remove Existing Inlet	Each	2	\$975.00	\$1,950.00						
<u>က</u>		A-33 Remove Existing Asphalt	S.Y.	3302	\$2.00	\$6,604.00						
(4)	_	A-34 Remove Existing Concrete	S.Y.	876	\$6.50	\$5,694.00						
		A-35 Remove Existing Curb and Gutter	Ę.	1021	\$2.50	\$2,552.50						
(r)	36 A-3	A-36 Clearing and Grubbing	ĽD.	93	\$60.00	\$5,580.00						
ω,		A-37 Pavement Saw Cutting	i.E	314	\$3.70	\$1,161.80						
(3)		A-38 Roadway Earthwork	C.Y.	4600	\$8.00	\$36,800.00						
-	7											





BID TABULATION										
PROJECT: 2024 Street and Utility Improvements Colfax, WI BID DEADLINE: April 5, 2024			McCabe Construction PO Box 1769 Eau Claire, WI 54702 715.552.1346	ion '02						
11:00 a.m. Local Time	OLINI	YTITNATIO	LINIT PRICE	TOTAL PRICE	UNIT PRICE TOTAL PRICE	RICE UNIT PRICE	PRICE TOTAL PRICE	+	UNIT PRICE	TOTAL PRICE
	-	2000	64.7E	\$8 324 50	H	H				
39 A-39 Geotextile Stabilization Fabric	> >	3014	\$34 DO	\$46.995.00						
40 A-40 Breaker Run	- - - - -	1107	\$41.50	\$45,940,50						
41 A-41 Base Coulse		3117	\$9.76	\$30,421.92						
42 A-42 1.3 Aspliatuc Concrete Billioci i aving	, s	3117	\$8.10	\$25,247.70						
44 A-44 30" Concrete Curb and Gutter	L.E.	1278	\$22.65	\$28,946.70						
	S.F.	1590	\$6.95	\$11,050.50						
	S.F.	5425	\$4.65	\$25,226.25						
	S.F.	120	\$49.00	\$5,880.00						
1.	L.S.	-	\$10,000.00	\$10,000.00						
				\$627,045.07						
SCHEDULE B										
49 B-1 Abandon Existing Sanitary Sewer	L.S.	-	\$4,000.00	\$4,000.00						
-	Each	_	\$560.00	\$560.00						
B-3	L.F.	409	\$100.00	\$40,900.00						
B-4	Each	60	\$860.00	\$2,580.00						
53 B-5 Sanitary Manhole 4 Ft	V.F.	24.6	\$440.00	\$10,824.00						
54 B-6 Casting Type J-S	Each	e	\$975.00	\$2,925.00						
B-7	ĽĒ	409	\$1.00	\$409.00						
56 B-8 Abandon Existing Storm Sewer	Ľ.S.	-	\$250.00	\$250.00						
57 B-9 Remove Existing Inlet	Each	-	\$250.00	\$250.00						
58 B-10 Trackout Control	L.S.	-	\$1,300.00	\$1,300.00						
59 B-11 Remove Existing Asphalt	S.Y.	1603	\$2.00	\$3,206.00						
60 B-12 Remove Existing Concrete	s;	7.1	\$8.00	\$268.00						
	L.F.	9	\$10.00	\$100.00						
	Ö	51	\$30.00	\$630.00						
\neg	7.	183	\$4.00	\$732.00						
64 B-16 Roadway Earthwork	S.	2400	00.8\$	\$19,200.00						
65 B-17 Geotextile Stabilization Fabric	S.	1948	4J./3	\$3,409.00						
66 B-18 Breaker Run	C.Y	649	\$40.00	\$25,960.00						
67 B-19 Base Course	C.Y.	481	\$43.00	\$20,683.00						
68 B-20 1.5" Asphaltic Concrete Binder Paving	S.Y.	1692	\$10.45	\$17,681.40						
	S.Y.	1692	\$8.25	\$13,959.00		-				
70 B-22 2" Asphaltic Concrete Driveway Paving	S.Y.	31	\$60.40	\$1,872.40						
71 B-23 30" Concrete Curb and Gutter	H,	657	\$22.25	\$14,618.25						
72 B-24 Concrete Driveway Paving	S.F.	849	\$7.65	\$6,494.85						
73 B-25 Turf Replacement	L.S.	-	\$10,000.00	\$10,000.00						
Subtotal for Schedule B				\$203,111.90				1		





PROJECT: 2024 Street and Utility Improvements Colfax, WI		McCabe Construction PO Box 1769	uction						
BID DEADLINE: April 5, 2024		715.552.1346	70.1						
11:00 a.m. Local Time									
DESCRIPTION	UNITS QUANTITY		UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
Total Base Bid Amount (Line Items 1-thru 73)			\$830,156.97						
Bid Security/Type - 10%		Bid Bo	Bid Bond - 10%						
Apparent Low Bid									

Page 6 of 6

Join us for COLFAX RESCUE Spaghetti Hirrner

Enjoy a spaghetti dinner and meet your local EMS crew and new EMS Director!

WHEN: MAY 5TH 2024, FROM 1PM - 6PM



To go dinner will be offered!!



Resolution 2024-02 Authorization of Signer Change on Non-Personal Accounts of Village Moneys Bremer Bank Accounts

WHEREAS, the Village of Colfax Board, as a customer of Bremer Bank is authorized to designate agents to conduct Village business on behalf of the Village of Colfax.

THEREFORE, BE IT RESOLVED, that Bremer Bank (the "Bank"), qualified as a public depository under Ch. 34, Wis. Stats., is hereby designated as a depository in which the funds of this Municipality may from time to time be deposited; that the following accounts be opened and maintained in the name of this Municipality with the Bank subject to the rules and regulations of the Bank from time to time in effect; that the persons and the number thereof designated by title opposite the following designation of accounts is hereby authorizes, for and on behalf of this Municipality, to sign order checks as provided in Section 66.0607(3), Wisconsin Statutes, for payment or withdrawal of money from said accounts and to issue instructions regarding the same and to endorse for deposit, negotiation, collection or discount by Bank and all checks, drafts, notes, bills, certificates of deposit or other instruments or orders for the payment of money owned or held by said Municipality; that the endorsement for deposit may be in writing, by stamp, or otherwise with or without designation of signature of the person so endorsing; and that any officer, agent or employee of this Municipality is hereby authorized to make oral or written requests of the Bank for the transfer of funds or money between accounts maintained by this Municipality at the Bank.

<u>Titles of Authorized Persons</u>

Jeffrey Prince, President
Carey K. Davis, Trustee
Lynn M. Niggemann, Administrator-Clerk-Treasurer

This is to certify, that the foregoing is a true and correct copy of resolutions duly and legally adopted by the governing body of the Municipality at an open legal meeting held on the 8th day of April 2024 and said resolutions will be in full force and effective on the 8th day of April 2024.

Signed and sealed this 8th day of April 2024	l.
A AP	
Lynn M. Niggemann Administrator-Clerk-Treasurer	
The undersigned member of the governing foregoing is a correct copy of a resolution p	body not authorized to sign order checks certifies that the assed as therein set forth.
Trustee	
	Jeff Prince, President
Attest: Lynn M. Niggemann Administrator-Clerk-Treasurer	

Resolution 2024-03-2024-12 Authorization of Signer Change on Non-Personal Accounts of Village Moneys Dairy State Bank Accounts

WHEREAS, the Village of Colfax Board, as a customer of Dairy State Bank is authorized to designate agents to conduct Village business on behalf of the Village of Colfax.

THEREFORE, BE IT RESOLVED, that Dairy State Bank (the "Bank"), qualified as a public depository under Ch. 34, Wis. Stats., is hereby designated as a depository in which the funds of this Municipality may from time to time be deposited; that the following accounts be opened and maintained in the name of this Municipality with the Bank subject to the rules and regulations of the Bank from time to time in effect; that the persons and the number thereof designated by title opposite the following designation of accounts is hereby authorizes, for and on behalf of this Municipality, to sign order checks as provided in Section 66.0607(3), Wisconsin Statutes, for payment or withdrawal of money from said accounts and to issue instructions regarding the same and to endorse for deposit, negotiation, collection or discount by Bank and all checks, drafts, notes, bills, certificates of deposit or other instruments or orders for the payment of money owned or held by said Municipality; that the endorsement for deposit may be in writing, by stamp, or otherwise with or without designation of signature of the person so endorsing; and that any officer, agent or employee of this Municipality is hereby authorized to make oral or written requests of the Bank for the transfer of funds or money between accounts maintained by this Municipality at the Bank.

<u>Titles of Authorized Persons</u>

Jeffrey Prince, President
Carey K. Davis, Trustee
Lynn M. Niggemann, Administrator-Clerk-Treasurer

This is to certify, that the foregoing is a true and correct copy of resolutions duly and legally adopted by the governing body of the Municipality at an open legal meeting held on the 8th day of April 2024 and said resolutions will be in full force and effective on the 8th day of April 2024.

Signed and sealed this 8 th day of April 2024.	
Lynn M. Niggemann Administrator-Clerk-Treasurer	
Administrator-Clerk-Treasurer	
The undersigned member of the governing boo foregoing is a correct copy of a resolution pass	dy not authorized to sign order checks certifies that the ed as therein set forth.
Trustee	
	Jeff Prince, President
Attest: Lynn M. Niggemann Administrator-Clerk-Treasurer	

Local Government Education

Division of Extension

Welcome to the 2024 Board of Review (BOR) Training

Please Review This Entire Page Before Ordering as the BOR Training Information Has Changed As Noted Below. Downloadable Notices, Forms and 2024 Exam see below.

Wisconsin law requires that in 2024, before the First Two-hour Meeting, at least one member of the BOR must attend a training session approved by the Wisconsin Department of Revenue within one year of the BOR's first meeting, see Wis. Stats. §§ 70.46(4) and 73.03(55). However, we recommended that all BOR members meet the training requirement by viewing a video and taking the exam.

2024 Wisconsin Department of Revenue (DOR) Approved Training

The DOR has approved watching the following video programs along with completing the NEW 2024 BOR Exam to meet the 2024 BOR training. To complete the 2024 BOR training you can view:

- a) The 2022, or 2023 "How to Conduct a BOR First Meeting" OR
- b) The 2021, 2022 & 2023 "How to Conduct a BOR Hearing" video OR
- c) View ALL the NEW 2024 Board of Review Specific Situation Videos
- 1. Examining the Assessment roll, AND
- 2. BOR Chair Duties, AND
- 3. Hiring the Assessor, AND
- 4. BOR Meeting and Notice Requirements

How to Purchase the BOR Training Videos

You can purchase these videos by clicking this link. .

IMPORTANT NOTE: If you already purchased the 2022, or 2023 "How to Conduct a BOR First Meeting" and/or the 2021, 2022 & 2023 "How to Conduct a BOR Hearing" video. YOU DO NOT NEED TO PURCHASE A NEW VIDEO FOR THE 2024 BOR Training.

While Watching the Videos

When viewing the BOR First Meeting video, use the Sample First Meeting Agenda on page 35 to follow the fictional Village of Grewyair First Meeting actions. For a BOR Hearing, use the "Findings of Fact, Determinations and Decision Form" on pages 53-58. The new BOR Short Videos are designed to aid a Chair and Clerk with specific BOR duties.

2024 BOR Handbook - UPDATED for 2024

You can purchase the handbook by clicking this link.

We revamped the 2024 BOR Handbook to follow the typical BOR schedule for notices, starting with the Assessor's Open Book, BOR First Meeting then, if needed, through a BOR Hearing.

2024 Board of Review Handbook includes a sample BOR agenda; BOR Checklist The Basics; 2023 Forms and Scripts; Findings of Fact and Decision form; scripts for running both the BOR Two Hour First Meeting and BOR Hearing; DOR and other forms; BOR Meeting notices; Sample Revaluation Notice; BOR Sample Ordinances and Policies; Taxpayer Assessment Questions and Policies; DOE resources and publications information and BOR Wisconsin statutes.

2024 BOR Exam - NEW for 2024

There is a NEW 2024 BOR Exam, which must be completed to complete your 2024 BOR Training.

You do not have to achieve a certain score to receive certification as having completed your training. The exam's main purpose is to guide you in preparing for your board of review. These materials are designed to assist you in your BOR member role with the BOR forms, outlines, and a link to DOR online resources.

You can get the 2024 NEW BOR Exam using the New Revamped 2024 Handbook. Or download it for free (see below).

Free Downloadable 2024 Board of Review Training Handbook Exam & Answers, Forms and Notices

These materials are provided to assist municipalities in utilizing the printed forms contained in the 2024 Board of Review Training Handbook. The materials are a WORD file and can be adapted to fit your municipality. Download the WORD file by clicking here.

For any questions, please contact Bill Oemichen at woemichen@wisc.edu or Daniel Foth at daniel.foth@wisc.edu

An EEO/AA employer, University of Wisconsin-Madison Division of Extension provides equal opportunities in employment and programming, including Title VI, Title IX, the Americans with Disabilities Act (ADA) and Section 504 of the Rehabilitation Act requirements.

(715) 962-3136 OFFICE (715) 962-4357 FAX



COLFAX, WI 54730

MARCH 2024 POLICE REPORT

Printed on April 3, 2024

CFS Date/Time	Description	Primary Units
03/01/24 08:56:23	911 HANG UP CALL -	501
03/01/24 10:03:47	EMERGENCY	CXMD8
03/01/24 14:54:01	SUSPICION	501
03/02/24 01:15:10	STRAY/DEAD ANIMAL	508
03/02/24 09:26:20	PUBLIC RELATIONS	218
03/02/24 10:38:52	PAPER SERVICE	209
03/02/24 21:08:36	NOISE COMPLAINT -	508
03/03/24 12:02:47	NOISE COMPLAINT -	226
03/03/24 16:15:50	EMERGENCY	CXMD8
03/04/24 11:02:58	EMERGENCY	CXMD8
03/04/24 14:13:31	REPOSSESSION	508
03/04/24 18:40:42	PUBLIC RELATIONS	212
03/08/24 09:43:40	911 HANG UP CALL -	508
03/08/24 11:18:46	CRIMINAL DAMAGE	508
03/08/24 16:35:05	TRAFFIC STOP	231
03/08/24 20:12:13	SUSPICION	232
03/09/24 14:12:05		232
03/10/24 00:22:19		225
03/14/24 08:12:36	EMERGENCY	CXMD8
03/14/24 18:19:06	TRAFFIC STOP	508
03/14/24 21:58:39	TRAFFIC STOP	228, 508
03/15/24 12:27:33	SUSPICION	501
03/15/24 20:33:40	TRAFFIC STOP	508
03/15/24 21:00:32	TRAFFIC STOP	508
03/15/24 22:34:06	STRAY/DEAD ANIMAL	508
03/16/24 00:58:17	DEATH	222, CXMD7, 508, ME5
03/16/24 05:33:23	EMERGENCY	CXMD7, 213
03/16/24 18:23:10	EMERGENCY	CXMD8
03/17/24 19:17:17	SUSPICION	229, 508
03/18/24 14:25:30	PROPERTY	501
03/19/24 09:36:37	MISCELLANEOUS -	
03/19/24 16:03:04	EMERGENCY	CXMD8
03/19/24 16:48:26	STRAY/DEAD ANIMAL	508
03/19/24 19:32:57	SUSPICION	508, 225
03/20/24 10:33:59	PROPERTY	501
03/22/24 06:29:14	USH-STH-CTH	
03/22/24 13:15:33	EMERGENCY	CXMD8
03/22/24 22:27:47	DEATH	ME8
03/23/24 15:06:06	EMERGENCY	CXMD8
03/23/24 19:45:39	EMERGENCY	CXMD8

CFS Date/Time	Description	Primary Units
03/24/24 18:03:21	DISORDERLY	225
03/25/24 08:22:25	PARKING ORDINANCE	501
03/25/24 08:27:36	PARKING ORDINANCE	501
03/25/24 08:33:13	PARKING ORDINANCE	501
03/25/24 08:37:04	PARKING ORDINANCE	501
03/25/24 19:04:18	EMERGENCY	508, CXMD8
03/27/24 07:25:56	EMERGENCY	CXMD8
03/27/24 16:47:37	911 HANG UP CALL -	231
03/29/24 11:27:24	TRAFFIC STOP	213
03/29/24 13:39:52	EMERGENCY	CXMD8
03/29/24 17:45:28	BURNING	
03/31/24 06:35:27	SUSPICION	213
03/31/24 14:36:09	FOUND/REPORTED	213
03/31/24 21:24:40	THEFT	229

Total Records: 54



Mobile: 715-556-0066 www.weberinspections.com inspector@weberinspections.com

Activity Report

Vil	lage of Col	e of Colfax					
	Date	Customer	Service	Pass/Fail	Project		
	3/20/2024	Ciokiewicz	Permit Issued		Remodel		

Weber Inspections

2921 Ingalls Road, Menomonie, WI 54751

Building Permit

Village of Colfax

Date	3/20/24			
Issued to:	Jason Ciokiewicz			
Address:	306 Dunn St. , Col	fax Wis. 54730		
Project:	12' x 16' attached	deck.		
Permits Issued:		Inspe	ctions Neede	ed:
		X	Yes	No

	Cost
Construction	\$90.00
HVAC	
Electrical	
Plumbing	
Erosion Control	
Total	\$ 90.00

Paid Ck # 1077

X	Yes	N

Phase	Rough	Final
Footing	Х	
Foundation		
Basement Drain Tiles		
Construction		Х
Plumbing		
Heat/Vent/AC		
Electrical		3
Insulation		
Occupancy		

Wisconsin Division of Safety and Buildings

VILLAGE OF COLFAX UNIFORM BUILDING PERMIT APPLICATION

App	lication	No

2024-

		UNII	OR	M BUILDIN	G PERMIT	APPL	ICAT	ION	202.				
Wisconsin Stats. 101.63,						Parcel No.							
PERMIT REQUE	STED	Cone	to F	THVAC DE	lectric □ D	lumbino	, [] E,	rosion C	ontrol	ontrol Other:			
Ouman's Nome			u. L		HVAC Electric Plumbing Erosion Control Other: Mailing Address								
Tiffank fr	ince			Mailing Address 603 Iverson Rd. 6 Pfex, W, 54				1730	730 507-951-7273				
Contractor's Name: □Co	n □Elec □	HVAC []	Pibg	Lic/Cert# Mailing Address 603 Vers					7	Tel.			
					603	1 very	₩ ~	ead		FAX#			
Contractor's Name: □Co	n 🗆 Elec 🗅	HVAC []]	Plbg	Lic/Cert#	Mailing Ad					Tel.			
										FAX#			
Contractor's Name: □Co	n 🗆 Elec 🗆	HVAC D	Plbg	Lic/Cert#	Mailing Ad	dress				Tel.			
										FAX#			
Contractor's Name: □Con □Elec □HVAC □Plbg			Plbg	Lic/Cert#	Mailing Ad	dress				Tel.			
										FAX#	-x		
PROJECT	Lot area												
LOCATION	Lot area		Sq	ı. ft.	<u></u>	1/4,	1/4,	of Section	, 7	Γ N, I	R E (or) W		
Building Address	ð		Subdiv	vision Name				Lot No.		Block No	1.		
Co3 Iverson R. Zoning District(s)	9401	Zoning Pe	mait N	[o	Setbacks:	Front		Rear	Let	Α	Right		
Zolling District(s)		Zoning re	amm i	ю.	Semacks:	Piont	ft.		ft.	ft.	ft.		
I. PROJECT	3. OCCUI		_	ntrance Panel	9. HVAC EQU		12. EN	ERGY SOU		Oil Elec	Solid Solar		
☐ New ☐ Repair ☐ Alteration ☐ Raze	☐ Single F ☐ Two Far		- 1	mps:	☐ Radiant Base		Space I						
□ Addition □ Move	☐ Garage	57;	- 11	Underground	☐ Heat Pump		Water I		The second second	[1] [1]			
☐ Other:				Overhead FOUNDATION	☐ Boiler ☐ Central Air C	Central Air Cond.		elling unit h equipment o		tt or more in e	stectine space		
2. AREA INVOLVED	4. CONST	. TYPE	-	Concrete	☐ Other:		13. HEAT LOSS						
Unfin.	[] Sitc-Bui			Masonry	40 0	1			DOI! (TID	m + 10 1 1 1 1			
BsmtSq Ft Living	0 Mfd: 0	U.S. HUD	- 3	Treated Wood Other:	10. SEWER © Municipal		Envelo	ne and Infilt	ration Loss	es ("Maximur	Total Calculated n Allowable		
AreaSq Ft	5. STORII		-	. USE	-	☐ Sanitary Permit No.: F		Heating Equipment Output" on Energy Worksheet,					
	[] 1-Story		1	Seasonal			"Total Building Heating Load" on WIScheck report)						
GarageSq Ft	☐ 2-Story ☐ Other:		- 1				14. EST. BUILDING COST						
DeckSq Ft.	🛘 Plus Bas			□ Private On-Site Well \$ 5000.									
I agree to comply with all appears or implied, on the sta	plicable code	s, statutes, an	d ordin	nances and with the c	onditions of this	permit; unde	erstand th	at the issuan	ce of the pe	ermit creates r	o legal liability,		
I have read the cautionary sta	tement regar	ding contract	or final	ncial responsibility o	n the reverse side	of the last	oly. I expi	essly grant t	the building	g inspector, or	the inspector's		
authorized agent, permission		4 1	- D	2111	at all reasonable h	ours and fo	r any prop						
APPLICANT'S SIG	NATUR			wyth					- A	$p_2 _{13}$	44 500 1		
APPROVAL CONI	ITIONS	This pe	rmit is	issued pursuant to the penalty. See at	e following condi tached for con	tions. Failt ditions of	approva	iply may res il.	ult in suspe	ension or revo	cation of this		

							T	Aunicipality	Number of	f Dwelling Lo	cation		
								1	7. 1	1 1			
FEES:		T	PERM	MIT(S) ISSUED			PERMI	T ISSUED I					
Plan Review \$				onstruction			27	. /www.					
Inspection \$ Wis. Permit Seal \$		_		VAC ectrical					22.7				
Other \$				umbing			Date 2	-13-2	√Γel. 7	15-962-4402	2		
Total &	0. 🕰		□ Er	osion Control									
Total \$ 10.27					Cert No.								

Wisconsin Division of Safety and Buildings

VILLAGE OF COLEAN

UNIFORM BUILDING PERMIT APPLICATION								20	2024- 🔾						
Wisconsin Stats. 101.63, 101.73 Parcel N										arcel N	lo.				
PERMIT REQUE	STED	□ Const	r П	HVAC DE	Electric Plumbing Erosion Control					trol	Other:				
(Nemarka Marea				Moiling Address							Tel				
Tordan Teele Contractor's Name: Con Contractor's Name: Contractor's Name: Con Con Contractor's Name: Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con Con			lla ca	Natylig Address トゥトレナ ラ Lic/Cert#	11, 10/4C	X, W,	154	1 50			(002 Tel.	3-16	9-6	465	
Contractor's Name: LICC	on Liblec L	IHVAC UP	log	Lic/Ceru	lyaning Ac	idress						"			
											FAX	# 			
Contractor's Name: 🏻 Co	n □Elec □]HVAC □P.	lbg	Lic/Cert#	Mailing Ac	ldress					Tel.				
											FAX	#			
Contractor's Name: 🗆 Co	m []Elec [DIIVAC OP	lbg	Lic/Cert#	Mailing Ad	ldress					Tel.				
											FAX	#			
Contractor's Name: □Co	n OElec C	HVAC OP	bg	Lic/Cert#	Mailing Ad	ldress					Tel.				
											FAX	#			
PROJECT	Lot area													, ,	
LOCATION			Sq.			_ 1/4,	1/4,			> '		N, R	E	(or) W	
Building Address 6 10 Kivev 5	7.	S	ubdivi	ision Name				Lot	No.		Blo	ck No.			
Zoning District(s)		Zoning Per	mit No	Э.	Setbacks:	Front		Rear		Le	ft		Right		
1. PROJECT	3. OCCUI	PANCY	6	ELECTRICAL	9. HVAC EQU	IPMENT	ft.	FRGV	fi SOURC			ft.		ft.	
X New [] Repair	[] Single F	amily	En	trance Panel	☐ Forced Air F	urnace	Fue	1	Nat Gas	LP	Oil	Elec	Solid	Solar	
☐ Alteration ☐ Raze ☐ Addition ☐ Move	☐ Two Far	mily		ups: Underground	☐ Radiant Base ☐ Heat Pump	bd/Panel	Space Water		D	11		11	10	11	
U Other: U Other:			33	Overhead	I Boiler				ınit has 3			- 1	ectric sp		
2 ADEA INDOLVED				FOUNDATION	☐ Central Air C	heating equipment capacity. 13. HEAT LOSS									
2. AREA INVOLVEB Unfin.	U Site-Bui			Concrete Masonry	☐ Other:	15. MEAR LOSS									
Bşmt Sq Ft	O Mfd: O			Treated Wood	10. SEWER	10. SEWER		BTU/HR Total Calculated							
Living		U.S. HUD	(I)	Other:	Municipal		Envelope and Infiltration Losses ("Maximum Allowable						ole		
Area Sq Ft	5. STORE	ES		USE Seasonal	[] Sanitary Permit No.:		Heating Equipment Output" on Energy Worksheet;								
Garage Sq Ft	2-Story			Permanent	11. WATER	11 WATER			"Total Building Heating Load" on WIScheck report) 14. EST. BUILDING COST						
	⊕ Other:		[]	Other:	Municipal U	· 12-12 100									
Deck Sq Ft.	Plus Bas		ordina	Private On-Site Well \$ 150,000 nances and with the conditions of this permit; understand that the issuance of					of the p	f the permit creates no legal liability					
express or implied, on the sta	ite or municij	pality; and cert	ify that	all the above infor	mation is accurate	e. If I am ar	i owner a	pplying	g for an e	rosion (control o	or const	ruction p	ermit,	
I have read the cautionary sta authorized agent, permission	itement regar to enter the p	ding contractor premises for wi	r tinani hich th	cial responsibility o is permit is sought	on the reverse side at all reasonable h	of the last pours and for	oly. I exp: r any proj	ressiy g per pur	grant the I pose to ir	building ispect t	g inspec he work	tor, or t	ne inspe is being	ctor's done.	
APPLICANT'S SIG			m7						TE SI					(2) 41	
			1	ssued pursuant to the	e following cond	itions Fails	ere to con								
APPROVAL CONI	DITIONS			penalty. See a						и зазре					
	ě.														
Wew 6	avasi									ELWA Y					
										- 01					
							1	Municij	pality Nu	mber o	f Dwelli	ng Loca	ation		
									1 7.	1	1 1				
FEES:	L		PERM	IT(S) ISSUED			PERMI	T ISSU	ED BY:						
Plan Review \$				nstruction					522 10						
Inspection \$ Wis. Permit Seal \$	****		□ HV. □ Elec	AC etrical		į	Name	Georg	e Entzm	mger_				and the second	
Other \$	and the same of the same		🗆 Plu	mbing			Date _	7-13	-2Y	Γel. 7	15-962	-4402		=9	
Total C	150.8	1	□Ето	sion Control					1						
Total \$ \(\frac{50}{3} \).						1	CO26 146								

Wisconsin Division of Safety and Buildings

VILLAGE OF COLFAX

Application	No.

	UNIFORM BUILDING PERMIT APPLICATION															
Wisconsin Stats. 101.63,	101.73	Parcel No.														
PERMIT REQUE	STED	☐ Constr. ☐ HVAC ☐ Electric ☐ Plumbing ☐ Erosion Control Other:														
	1 2 200 444				eraty Ave	- Coffe	ix, U	21	54730		Tel.	-30	5-13	33 -		
Contractor's Name: □Con □Elec □HVAC □Pibg I			Lic	Mailing Address 521 Universe 1 Ave, Coffax, W1 54730 Lic/Cert# Mailing Address						Tel.						
										FAX#						
Contractor's Name: Con DElec DHVAC DPlbg			Lic	Lic/Cert# Mailing Address							Tel.					
											FAX#					
Contractor's Name: Contractor's Name:	n DElec D	HVAC □ Pibg	Lic	.ic/Cert# Mailing Address					Tel.							
			ļ.,		77.00	1					FAX#					
Contractor's Name: □Con	n □Elec □	IHVAC □ Plbg	Lic	/Cert#	Mailing Address					Tel.						
PROJECT	Lot area															
LOCATION			Sq. ft.			_ 1/4,	1/4,			, T		N, R		(or) W		
Building Address 50/Universe	Ly Ave	Sub	divisio	n Name				Lot N	No.		Blo	ck No.				
Zoning District(s)		Zoning Permit	No.		Setbacks:	Front	ft.	Rear	ft.	Lef	t	ft.	Right	ft.		
1. PROJECT	3. OCCUP	ANCY	6. EL	ECTRICAL	9. HVAC EQU	IPMENT		ERGY	SOURCE	E		16		14.		
New Repair	☐ Single F	amily	Entrar	ice Panel	☐ Forced Air F		Fue			LP	Oil	Elec	Solid	Solar		
☐ Alteration ☐ Raze	☐ Two Fan	nily	Amps		☐ Radiant Base	bd/ Panel	Space Water		[]	[]						
☐ Addition ☐ Move	☐ Garage		1		☐ Heat Pump ☐ Boiler											
Other:	☐ Other:	7. FOUNDATION			☐ Central Air Cond. heating equipment ca					3 kilowatt or more in electric space pacity.						
2. AREA INVOLVED	4. CONST	. TYPE				Other: 13. HEAT LOSS										
Unfin.	☐ Site-Bui	lt	□ Ma	sonry												
BsmtSq Ft	□ Mfd: □		☐ Treated Wood		10. SEWER						BTU/HR Total Calculated					
Living		U.S. HUD	☐ Other:		1			Envelope and Infiltration Losses ("Maximum Allowable					ble			
Area Sq Ft	5. STORII	ES	8. US		☐ Sanitary Pen	nit No.:					-	-				
	□ 1-Story		□ Sea	-	11 31/4 (1992)	"Total Building Heating Load" on WIScheck ER 14. EST. BUILDING COST				тероп)						
GarageSq Ft	☐ 2-Story ☐ Other:		☐ Oth	manent er:		T 2 5 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2										
DeckSq Ft.	☐ Plus Bas				☐ Private On-S	ite Well	te Well \$ 5200, 2									
I agree to comply with all applicable codes, statutes, and ordinances and with the conditions of this permit; understand that the issuance of the permit creates no legal liability, express or implied, on the state or municipality; and certify that all the above information is accurate. If I am an owner applying for an erosion control or construction permit, I have read the cautionary statement regarding contractor financial responsibility on the reverse side of the last ply. I expressly grant the building inspector, or the inspector's authorized agent, permission to enter the premises for which this permit is sought at all reasonable hours and for any proper purpose to inspect the work which is being done. APPLICANT'S SIGNATURE DATE SIGNED																
APPROVAL CONDITIONS This permit is issued pursuant to the following conditions. Failure to comply may result in suspension or revocation of this permit or other penalty. See attached for conditions of approval.								this								
		Portinit or or	- Par								40.41					
Fence																
										411						
							- i -		-124 37			T				
	Municipality Number of Dwelling Location 1 7. 1 1 1															
		ne	ייים אונים ו	e) regrees			DEDM	יור זכפי	UED BY:	1						
FEES: Plan Review \$				(S) ISSUED			I EKWI	1 133	OED DI:							
Plan Review \$ Inspection \$			HVA(Name	Georg	e Entzmii	nger						
Wis. Permit Seal \$			Electri					_								
Other \$			Plumb				Date 5	12-0	7/ T	el. 7	15-962	2-4402				
Total \$	10,00		Erosio	n Control		J.	Cert N	0.								

Administrator-Clerk-Treasurer April 5th, 2024

Meeting Dates and some Draft Agendas attached

Thursday, April 11th, 2024 – 1 pm – Employee Handbook meeting.

• Employees are invited to make suggestions. Committee may make recommendation to the Village Board or to the attorney for review prior to implementation.

Monday, April 15th, 2024 – 6:30 pm – Parks Committee Meeting – Location-A Little Slice of Italy

• Colfax Youth Sports Corporation and the Colfax Softball Association have been invited to get updates and status on projects.

Tuesday, April 16th, 2024 – 6 pm – Organizational Committee meeting – Welcome new and/or returning Trustees after the April 2nd, 2024 election.

Thursday, April 18th, **2024** – 1 pm - Terry Stamm and Lynn Niggemann will meet with collection site workers to discuss any items to be considered at the Solid Waste & Recycling Committee Meeting.

Monday, April 22nd, 2024 - 7 pm - Regular Board meeting

Tuesday, April 23rd, 2024 – 7 pm at the Fire Station – Solid Waste & Recycling Committee Meeting

I have attached the results of the April 2nd Election which are always available on the Village website the night of the election after I have called in the results to the County Clerk and the School (if pertinent).

Village of Colfax Employee Handbook Committee Thursday, April 11th, 2024 1:00 pm Village Hall, 613 Main Street, Colfax, WI 54730

Agenda

- 1. Call to Order
- 2. Employee Handbook Review
 - Employee suggestions presented to the committee
 - Committee recommendations to be considered for presentation to the Village Board and/or final review by the attorney.
- 3. Adjourn

Any person who has a qualifying disability as defined by the American With Disabilities Act that requires the meeting or materials at the meeting to be in an accessible location or format must contact: Lynn Niggemann Administrator-Clerk-Treasurer's Office, 613 Main Street, Colfax, (715) 962-3311 by 2:00 p.m. the day prior to the meeting so that and necessary arrangements can be made to accommodate each request.

******It is possible that members of and possibly a quorum of members of the governmental bodies of the municipality may be in attendance at the above-stated meeting to gather information- no action will be taken by any governmental body at the above-stated meeting other than the governmental body specifically referred to above in this notice.*****

Village of Colfax Village Board Organizational Meeting Agenda Tuesday, April 16th, 2023 6:00 p.m. Village Hall, 613 Main Street, Colfax, WI

- Call to Order
- 2. Roll Call
- 3. Public Appearances
- 4. Committee Appointments
 - a. President's Presentation
 - b. Board Confirmation Spring Election 2024 Term: April 16th, 2024 to April 21st, 2026
 - Village Trustee Annie Jenson
 - Village Trustee Gary Stene
 - Village Trustee Carey Davis

Term: April 18th, 2023 to April 15th, 2025

- Village President Jeff Prince
- Village Trustee Margaret Burcham
- Village Trustee Jen Rud
- Village Trustee Vacant
- c. Committee Confirmation
- 5. President/Trustee/Clerk Comments
- 6. Adjourn

Any person who has a qualifying disability as defined by the American With Disabilities Act that requires the meeting or materials at the meeting to be in an accessible location or format must contact: Lynn M. Niggemann, Village Administrator-Clerk-Treasurer, 613 Main Street, Colfax, WI (715) 962.3311 by 2:00 p.m. the Friday prior to the meeting so that any necessary arrangements can be made to accommodate each request. It is possible that members of and possibly a quorum of members of the governmental bodies of the municipality may be in attendance at the above-stated meeting to gather information; no action will be taken by any governmental body at the above-stated meeting other than the governmental body specifically referred to above in this notice.

Colfax Solid Waste & Recycling Committee Meeting

Agenda and Notice of a Possible Quorum of Board Members of the Villages of Colfax and Elk Mound and the Towns of Colfax, Elk Mound, Grant, Otter Creek, Spring Brook, Tainter and Wilson

Tuesday, April 23rd, 2024 @ 7:00 p.m. Colfax Fire Hall, 407 County Rd M, Colfax, WI 54730

- 1. Call to Order
- Roll Call Towns of Colfax, Grant, Otter Creek, Spring Brook, Tainter, Elk Mound, Wilson and Village of Colfax and Elk Mound
- 3. Consideration Items
 - a. Clean Sweep Discussion and Possible Dates
 - b. Discuss site hours and employee situations
 - c. Any Site Updates/Equipment discussions
 - i. Elk Mound
 - ii. Colfax
 - d. Statements of Bills
 - e. Financial/Budget Documents
 - f. Any other items to be discussed
 - g. Future meeting items
 - h. Next meeting date August 27th, 2024

4. Adjournment

Any person who has a qualifying disability as defined by the American With Disabilities Act that requires the meeting or materials at the meeting to be in an accessible location or format must contact: Lynn M. Niggemann, Administrator-Clerk-Treasurer's Office, 613 Main Street, Colfax, (715) 962-3311 by 2:00 p.m. the day prior to the meeting so that any necessary arrangements can be made to accommodate each request.

It is possible that members of and possibly a quorum of members of the governmental bodies of the municipality may be in attendance at the above-stated meeting to gather information - no action will be taken by any governmental body at the above-stated meeting other than the governmental body specifically referred to above in this notice.

Village of Colfax Tuesday, April 2, 2024 Election Results

Presidential Preference Vote			
Democratic	101		
Republican	71		
Democratice Party Primary			
	12:00		
Joe Biden	99		
Dean Phillips	1		
Uninstructed Delegation			
Write-in	3		
Republican Party Primary			
Chris Christie	1		
Vivek Ramaswamy	3		
Ron DeSantis	3		
Nikki Haley	3		
Donald Trump	70		
Uninstructed Delegation	3		
Write-in:	0		

County	
County Supervisor District 5	
Gary Stene	160
Write-in	5
Municipal	
Village Trustee	
Carey K. Davis	127
Gary Stene	140
Annie Jenson	130
Write-in	7
Write-in	
Write-in	
SCHOOL DISTRICT	, I E I A
School Board Member	
Kyle Lee Knutson	154
Kenneth E Neuburg	137
Write-in	4
Write-in	

REFERENDUM

State

Q1: "Use of private funds in election administration. Shall section 7 (1) of article III of the constitution be created to provide that private donations and grants may not be applied for, accepted, expended, or used in connection with the conduct of any primary, election, or referendum?"

Yes	78
No	102

Q2: "Election Officials. Shall section 7 (2) of article III of the constitution be created to provide that only election officials designated by law may perform tasks in the conduct of primaries, elections, and referendums?"

Yes	91
No	91

TOTAL VOTERS 190